HW!lon Trigonometry
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1. In the accompanying diagram, what is sinE ?
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2. In the accompanying diagram, the legs of right

triangle ABC are 4 and 3, and the hypotenuse is 5.

What is the value of tanA ? :
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In the accompanying diagram of right
triangle ABC, legs AC and BC are 12 and 5,
respectively, and hypotenuse AB is 13.

What is tan B?
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In' AABC, mZA =25 and mZC = 90. Which
ratio represents tan 65°7
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5. In right triangle ABC shown below, AC = 12,
BC = 16, and AB = 20.
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Which equation is not correct?

A cosA=% B. tand=15
: — 12 — 26
C. sinB=3j D. tanB =g
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